Moto-All.ru

CIIMCOK JOETAJIEU [IJI4 "GEAR CHANGE PEDAL" TRIUMPH

ADVENTURER DRIVELINES

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY NIJ19 "GEAR CHANGE PEDAL" TRIUMPH

ADVENTURER DRIVELINES

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T2080284 CpOK ITOCTaBKHU OT 27 mHEU PEDAL, GEARCHANGE

2 T2080281 CpOK IIOCTaBKHU 0T 27 gHEeHU RUBBER, GEARCHANGE, RT
3 T2081778 Cpok nocTaBku 0T 19 gHel Pin, Gearchange

3 T2080696 CpOK ITOCTaBKH OT 27 mHEH PIN, GEARCHANGE

4 T3050334 Cpok 1ocTaBku 0T 19 gHel Screw, Cap/Hd, M6 x 20, Slv
5 T3551602 Cpok nocTaBKy OT 27 gHeR WASHER, THRUST, 12X18X1.2
6 3500008-T0301 CpOK MTOCTaBKH OT 27 mHEH CIRCLIP

7 1190260-T0301 CpOK ITOCTaBKHU OT 27 gHEU SHAFT ASSY, GEARCHANGE
7 T1190255 CpOK IIOCTaBKH OT 27 gHEHU SHAFT ASSY,G/CHANGE

8 1190160-T0301 Cpox nocrask ot 27 fHeir A N SPEING

8 T1190160 Cpok noctaBku oT 19 gHelt Return spring

10 1190170-T0301 Cpox mocTaBku 0T 27 mHeR BOLT, SPRING ABUTMENT
11 3100002-T0301 CpOK ITOCTaBKHU OT 27 mHEN STUD, M6 X 23

12 1190335-T0301 Cpoxk nocTaBku OT 27 fHel ?é’é(l AIF{(SB DETENT ARM

13 1190140-T0301 Cpok mocTaski ot 27 Fxeit fﬁgﬂgﬁfmm ARM

14 3550019-T0301 Cpox mocTaBku 0T 27 mHeR WASHER M6 HARDENED

15 1190021-T0301 CpOK ITOCTaBKHU OT 27 gHEU DETENT ARM, NEUTRAL

16 1190022-T0301 CpOK IIOCTaBKH 0T 27 gHEeU DETENT ARM, GEARS

17 T1190191 CPpoK OCTaBKY OT 27 mHER COLLAR,DETENT,ARM

17 T1190192 Cpok mmocTaBku 0T 19 gHel Collar, Detent Arm

18 T3350300 CpOK IIOCTaBKHU OT 27 gHEU NUT,M6X1.0,SLV

18 3350008-T0301 Cpox mmocTaBKu 0T 27 OHEH NUT, M6 X 1




